TABLE 1 Set Identities.

Identity Name

ANU=A Identity laws
AUB=A

AUU=U Domination laws
ANP =

AUA=A Idempotent laws
ANA=A

(AT} =A Complementation law
AUB=BUA Commutative laws
ANB=BNA

AUBUC)=(AUB)UC
AN(BNC)=(ANB)NC

Associative laws

AUBNC)=(AUB)N(AUC)
AN(BUC)=(ANBYU(ANC)

Distributive laws

ANB=AUB
AUB=ANB

De Morgan’s laws

AUANB)=A
AN(AUB) = A

Absorption laws

AUA=U
ANA=0

Complement laws

Problems

. List the elements in the set {z € R | 23 — 2 = 0}

. Let P be the set of prime numbers, and let M = {2n* + 11 | n € Z}.
S
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. What set is shaded in this Venn diagram?
. Prove the absorption law AU (AN B) = A.

. Show that AC B < B C A.
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